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Computer Proficiency Certification Test
  

 
Notations :
1.Options shown in green color and with  icon are correct.
2.Options shown in red color and with  icon are incorrect.
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AND NETWORKING
Section Id : 2549895918
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 52
Number of Questions to be attempted : 52
Section Marks : 52
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895959
Question Shuffling Allowed : Yes
  
Question Number : 1 Question Id : 2549896435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A computer program that translates one program instruction at a time into a machine language is called:
Options :
1.  an interpreter
2.  an emulator
3.  a compiler
4.  a simulator
  
Question Number : 1 Question Id : 2549896435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
एक कं�ूटर �ो�ाम जो एक समय पर एक �ो�ाम िनद�श को मशीन भाषा म� अनुवाद करता है �ा कहलाता है?
Options :
1.  इंटर�ेटर
2.  ए�ूलेटर
3.  क�ाइलर
4.  िस�ुलेटर
  
Question Number : 2 Question Id : 2549896901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
एक इनफाम�शन िस�म म�, अ�फ़ानुमे�रक डेटा सामा�तः  िकस का �प लेता है?
Options :
1.  केवल अ�र
2.  अ�र और सं�ाएं
3.  केवल सं�ाएं
4.  वण� जैसे ए��र� (*)
  
Question Number : 2 Question Id : 2549896901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In an information system, alphanumeric data normally takes the form of:
Options :
1.  only letters
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2.  letters and numbers
3.  only numbers
4.  characters like asterisk (*)
  
Question Number : 3 Question Id : 2549897051 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
ATMs belong to which of the following categories of embedded systems?
Options :
1.  Standalone
2.  Real time
3.  Networked
4.  Mobile
  
Question Number : 3 Question Id : 2549897051 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
एटीएम (ATMs) िन�िल�खत म� से िकस �ेणी के ए�ेडेड िस�म से संबंिधत ह�?
Options :
1.  ��डअलोन (Standalone)
2.  रीयल टाइम (Real time)
3.  नेटव�ड� (Networked)
4.  मोबाइल (Mobile)
  
Question Number : 4 Question Id : 2549897320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
______ को यूिन� (UNIX) म� कमांड लाइन इंटर�ीटर के �प म� जाना जाता है।
Options :
1.  कंपाइलर
2.  कन�ल
3.  िस�म लाइ�ेरी
4.  शेल
  
Question Number : 4 Question Id : 2549897320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
_______ is known as the command line interpreter in UNIX.
Options :
1.  Compiler
2.  Kernel
3.  System library
4.  Shell
  
Question Number : 5 Question Id : 2549897685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following MS-Office software is used to create professional quality documents, letters, reports, resumes, etc., and
allows you to edit or modify your new or existing document?
Options :
1.  MS-Access
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2.  MS-Excel
3.  MS-PowerPoint
4.  MS-Word
  
Question Number : 5 Question Id : 2549897685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िन�िल�खत म� से िकस MS-Office सॉ�टवेयर का उपयोग पेशेवर गुणव�ा वाले डॉ�ूम�ट जैसे; प�, �रपोट�, �र�ूमे आिद बनाने के िलए िकया
जाता है और यह आपको आपके नए या मौजूदा डॉ�ूम�ट को संपािदत (edit) या संशोिधत (modify) करने की अनुमित भी देता है?
Options :
1.  MS-Access
2.  MS-Excel
3.  MS-PowerPoint
4.  MS-Word
  
Question Number : 6 Question Id : 2549899374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
हाड� िड� म� ��ेक ट� ैक को एक अ�� वैज-आकार के खंड म� िवभािजत िकया जाता है िजसे कहा जाता है:
Options :
1.  राउंड
2.  पोट�
3.  ट� ैक
4.  से�र
  
Question Number : 6 Question Id : 2549899374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Each track in a hard disk is divided into an invisible wedge-shaped section called:
Options :
1.  round
2.  port
3.  track
4.  sector
  
Question Number : 7 Question Id : 25498911422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
________ एक �ि�या के बाइंिडंग और अनबाइंिडंग को क� �ीय �ोसेिसंग यूिनट की एक र�ज म� एनेबल करता है।
Options :
1.  �ोसेसर िलंिकंग
2.  �ोसेसर एिफ़िनटी
3.  �ोसेसर बॉ��ंग
4.  �ोसेसर मा��ंग
  
Question Number : 7 Question Id : 25498911422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
________ enables the binding and unbinding of a process to a range of central processing units.
Options :
1.  Processor linking
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2.  Processor affinity
3.  Processor bonding
4.  Processor masking
  
Question Number : 8 Question Id : 25498929962 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िफंगरि�ंट, चेहरे की छिवयां, आइ�रस और आवाज जैसी िवशेषताओ ंकी पहचान करने की तकनीक का उपयोग िन�िल�खत म� से िकस म� िकया
जाता है?
Options :
1.  वीिडयोमेिट�क �णाली
2.  बायोमेिट�क �णाली
3.  �चािलत �णाली
4.  ऑिडयोमेिट�क �णाली
  
Question Number : 8 Question Id : 25498929962 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The technique of recognising human characteristics such as fingerprints, facial images, irises and voices is used in:
Options :
1.  videometric system
2.  biometric system
3.  automatic system
4.  audiometric system
  
Question Number : 9 Question Id : 25498930214 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
�ू-रे �ा�प �ारा उपयोग िकए जाने वाले नीले लेजर की तरंग डीवीडी �ा�प �ारा उपयोग िकए जाने वाले लाल लेजर की तुलना म� काफी हद तक
_____ है।
Options :
1.  कम
2.  बड़ा
3.  समान
4.  रेखीय
  
Question Number : 9 Question Id : 25498930214 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The wavelength of a blue laser used by Blu-Ray format is substantially ______ than that of the red laser used by the DVD format.
Options :
1.  lesser
2.  larger
3.  equal
4.  linear
  
Question Number : 10 Question Id : 25498930639 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The Central Processing Unit (CPU) consists of which of the following parts?
Options :
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1.  Control Unit (CU) only
2.  Control Unit (CU) and Arithmetic Logic Unit (ALU)
3.  Main Memory
4.  Operating System
  
Question Number : 10 Question Id : 25498930639 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
स�ट� ल �ोसेिसंग यूिनट (CPU) म� िन�िल�खत म� से कौन सा भाग होता है?
Options :
1.  केवल िनयं�ण इकाई (CU)
2.  िनयं�ण इकाई (CU) और अ�रथमेिटक लॉिजक यूिनट (ALU)
3.  मु� �ृित (Main Memory)
4.  ऑपरेिटंग िस�म
  
Question Number : 11 Question Id : 25498930705 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िन�िल�खत म� से कौन-सा एक मु� �ॉग हो� है?
Options :
1.  गो-डैडी
2.  वड��ेस
3.  मोिज़ला
4.  इंटरनेट ए��ोरर
  
Question Number : 11 Question Id : 25498930705 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a free blog host?
Options :
1.  GoDaddy
2.  WordPress
3.  Mozilla
4.  Internet Explorer
  
Question Number : 12 Question Id : 25498930958 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िन�िल�खत म� से कौन-सा, सॉ�वेयर को इंटरफेिसंग �र पर LCD ��थित की जांच करने के एक इ�तम समय कुशलता के साथ देरी के कारकों
पर िनभ�र होने से रोकने के िलए एक वैक��क मैकेिन� है?
Options :
1.  कम समय म� तेज िड��े को अपडेट करना
2.  घड़ी की आवृि� (�ॉक �ी�� सी) और िड��े मॉ�ूल का सामा�ीकरण
3.  डेटा बस के DB7 िबट की पोिलंग
4.  डेटा बस के DB9 िबट की पोिलंग
  
Question Number : 12 Question Id : 25498930958 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is an alternative mechanism of preventing software from being dependent on several delay factors along with
an optimum time proficiency of checking the LCD status at the interfacing level?
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Options :
1.  Updating the faster display in less time
2.  Generalisation of clock frequency and display module
3.  Polling of DB7 bit of the data bus
4.  Polling of DB9 bit of data bus
  
Question Number : 13 Question Id : 25498933178 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
1 MB, ______ बाइट्स होता है।
Options :
1.  1,056,576
2.  1,048,500
3.  10,048,576
4.  1,048,576
  
Question Number : 13 Question Id : 25498933178 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
1 MB is ______ bytes.
Options :
1.  1,056,576
2.  1,048,500
3.  10,048,576
4.  1,048,576
  
Question Number : 14 Question Id : 25498933726 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
लगभग सभी आधुिनक सुपरकंड��ंग MR �ैनर म� उपयोग िकया जाने वाला कंड�र ____ है
Options :
1.  िनयोिबयम (Nb) और टाइटेिनयम (Ti)
2.  िनयोिबयम (Nb) और कॉपर (Cu)
3.  िनकेल (Ni) और टाइटेिनयम (Ti)
4.  िनकेल (Ni) और कॉपर (Cu)
  
Question Number : 14 Question Id : 25498933726 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The conductor used in nearly all modern superconducting MR scanners is ______
Options :
1.  niobium (Nb) and titanium (Ti)
2.  niobium (Nb) and copper (Cu)
3.  nickel (Ni) and titanium (Ti)
4.  nickel (Ni) and copper (Cu)
  
Question Number : 15 Question Id : 25498933813 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िन�िल�खत म� से कौन-सा, एक ऑि�कल �ोरेज िडवाइस नही ंहै?
Options :
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1.  USB ड� ाइव
2.  DVD
3.  �ू-रे िड�
4.  CD
  
Question Number : 15 Question Id : 25498933813 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT an optical storage device?
Options :
1.  USB drive
2.  DVD
3.  Blu-Ray disk
4.  CD
  
Question Number : 16 Question Id : 2549897345 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which file format is used to save a Virtual Basic script written in the VBScript scripting language?
Options :
1.  .v.script
2.  .vbt
3.  .vbscr
4.  .vbs
  
Question Number : 16 Question Id : 2549897345 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
VBScript ��ि�ंग भाषा म� िलखी गई Visual Basic ��� को सहेजने के िलए िकस फ़ाइल ��प का उपयोग िकया जाता है?
Options :
1.  .v.script
2.  .vbt
3.  .vbscr
4.  .vbs
  
Question Number : 17 Question Id : 2549897737 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Cable television systems transmit data over ______ cable.
Options :
1.  infrared waves
2.  coaxial
3.  twisted pair
4.  laser optic
  
Question Number : 17 Question Id : 2549897737 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
केबल टेलीिवजन िस�म ______ केबल पर डेटा संचा�रत करते ह�।
Options :
1.  इं�ारेड वे�स 
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2.  कोऐ�ीअल
3.  ि��ेड पेअर
4.  लेजर ऑि�क
  
Question Number : 18 Question Id : 2549897916 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In ______ topology each node is connected to at least one other node and usually to more than one and each node is capable of
sending messages to and receiving messages from other nodes.
Options :
1.  mesh
2.  star
3.  ring
4.  bus
  
Question Number : 18 Question Id : 2549897916 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
______ टोपोलॉजी म� ��ेक नोड कम से कम एक अ� नोड से जुड़ी होती है और सामा�त: एक से अिधक नोड से जुड़ी होती है और ��ेक नोड
अ� नोड्स को संदेश भेजने और �ा� करने म� स�म होती है।
Options :
1.  मेश (mesh)
2.  �ार (star)
3.  �रंग (ring)
4.  बस (bus)
  
Question Number : 19 Question Id : 2549898220 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
______virus can infect a file without changing the size of the file by using only empty sections, making it more difficult to detect.
Options :
1.  Memory
2.  Stealth
3.  MBR
4.  Cavity
  
Question Number : 19 Question Id : 2549898220 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
_______वायरस, फ़ाइल के आकार को िबना प�रवित�त िकये, फाइल के �र� खंडो ंका उपयोग करके फ़ाइल को सं�िमत कर सकता है और इ��
पहचानना और अिधक किठन हो जाता है।
Options :
1.  मेमोरी
2.  �े�
3.  MBR 
4.  कैिवटी
  
Question Number : 20 Question Id : 2549898366 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Users can change the order of the boot sequence through which device setup?
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Options :
1.  NTLDR
2.  BIOS
3.  MBR
4.  POST
  
Question Number : 20 Question Id : 2549898366 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
उपयोगकता� बूट सी�� स के �म को िकस िडवाइस सेटअप �ारा बदल सकते ह�?
Options :
1.  NTLDR
2.  BIOS
3.  MBR
4.  POST
  
Question Number : 21 Question Id : 2549899467 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SPOOL stands for Simultaneous Peripheral ______ Online.
Options :
1.  On
2.  Operations
3.  Ongoing
4.  Off
  
Question Number : 21 Question Id : 2549899467 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SPOOL का पूण� �प साइम�ेिनयस पे�रफेरल ______ ऑनलाइन है।
Options :
1.  ऑन
2.  ऑपरेश�
3.  ऑनगोइंग 
4.  ऑफ 
  
Question Number : 22 Question Id : 25498910852 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The output quality of a dot-matrix printer is measured in:
Options :
1.  dots per inch
2.  dots per sq. inch
3.  dots printed per unit time
4.  dots printed per unit paper
  
Question Number : 22 Question Id : 25498910852 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
डॉट-मैिट�� ि�ंटर की आउटपुट गुणव�ा को िकसम� मापा जाता है?
Options :
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1.  डॉट्स �ित इंच
2.  डॉट्स �ित वग� इंच
3.  �ित यूिनट समय म� ि�ंट िकए गए डॉट्स 
4.  �ित यूिनट पेपर पर ि�ंट िकए गए डॉट्स
  
Question Number : 23 Question Id : 25498911141 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In first generation of computers ______ technology was used.
Options :
1.  vaccum tubes
2.  transistors
3.  integrated circuits
4.  VLSI
  
Question Number : 23 Question Id : 25498911141 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
कं�ूटर की पहली पीढ़ी म� ______ तकनीक का उपयोग िकया गया था।
Options :
1.  वै�ूम �ूब
2.   ट� ांिज�र
3.  एकीकृत प�रपथ
4.  VLSI
  
Question Number : 24 Question Id : 25498913366 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
______ compression perfectly restores the original images when applying a reversible process.
Options :
1.  Dirty
2.  Lossy
3.  Lossless
4.  Clean
  
Question Number : 24 Question Id : 25498913366 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
एक �ितवत� (�रवस�बल) �ि�या लागू करते समय ______ संपीड़न पूरी तरह से मूल छिवयो ंको वािपस लौटाता है।
Options :
1.  मिलन (Dirty)
2.  हािनकारक (Lossy)
3.  हािनरिहत (Lossless)
4.  �� (Clean)
  
Question Number : 25 Question Id : 25498913377 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
______ is a commonly used method of lossy compression for digital images, particularly for those images produced by digital
photography.
Options :
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1.  PNG
2.  AVI
3.  JPEG
4.  MP3
  
Question Number : 25 Question Id : 25498913377 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
______ िडिजटल छिवयो ं(इमेजो) के िलए हािनपूण� संपीडन (lossy compression) का आमतौर पर उपयोग िकया जाने वाला तरीका है, िवशेष �प
से उन छिवयो ंके िलए जो िडिजटल फोटो�ाफी �ारा िनिम�त होती ह�।
Options :
1.  PNG
2.  AVI
3.  JPEG
4.  MP3
  
Question Number : 26 Question Id : 25498913904 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
According to standards set forth in Internet Engineering Task Force (IETF) document RFC-1918 , there are some IPv4 address ranges
are reserved by the IANA for private internets and are not publicly routable on the global internet.
 
One of those ranges is from 10.0.0.0 to ______.
Options :
1.  10.0.255.255
2.  10.255.255.0
3.  10.255.0.255
4.  10.255.255.255
  
Question Number : 26 Question Id : 25498913904 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
इंटरनेट इंजीिनय�रंग टा� फोस� (IETF) द�ावेज़ RFC-1918 म� िनधा��रत मानको ंके अनुसार, कुछ IPv4 पता �ेिणयां IANA �ारा िनजी इंटरनेट
के िलए आरि�त ह� और वैि�क इंटरनेट पर साव�जिनक �प से �ट करने यो� नही ंह�। 

उनम� से एक 10.0.0.0 से ___ है।
Options :
1.  10.0.255.255
2.  10.255.255.0
3.  10.255.0.255
4.  10.255.255.255
  
Question Number : 27 Question Id : 25498918423 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the advantage of setting a default printer?
Options :
1.  It prints the jobs slowly than other printers. 
2.  It saves your time (will not ask for printer details before printing).
3.  The printing quality is far better than other printers.
4.  This printers’ cost is less than other printers.
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Question Number : 27 Question Id : 25498918423 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िडफ़ॉ� ि�ंटर सेिटंग का �ा लाभ है?
Options :
1.  यह अ� ि�ंटरो ंकी अपे�ा काय� (जॉब) का मु�ण धीरे-धीरे से करता है।
2.  यह आपका समय बचाता है (मु�ण से पहले ि�ंटर िववरण नही ंपूछता)।
3.  इसकी मु�ण गुणव�ा अ� ि�ंटरो ंसे कही ंअिधक अ�ी होती है।
4.  इस ि�ंटर की लागत अ� ि�ंटरो ंसे कम है।
  
Question Number : 28 Question Id : 25498918597 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
To insert page number in MS-word 2016 we have to select ______ menu in the ribbon.
Options :
1.  File
2.  View
3.  Insert
4.  Design
  
Question Number : 28 Question Id : 25498918597 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS-word 2016 म� पृ� �मांक (पेज नंबर) �िव� करने के िलए हम� �रबन म� ______ मेनू का चयन करना होगा।
Options :
1.  फ़ाइल (File)
2.  �ू (View)
3.  इ�ट� (Insert)
4.  िडज़ाइन (Design)
  
Question Number : 29 Question Id : 25498920531 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A directory within a directory is called ______.
Options :
1.  Mini directory
2.  Junior directory
3.  Part directory
4.  Sub directory
  
Question Number : 29 Question Id : 25498920531 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
डायरे�री के अंदर डायरे�री ______ कहलाती है।
Options :
1.  िमनी डायरे�री
2.  जूिनयर डायरे�री
3.  पाट� डायरे�री
4.  सब डायरे�री
  
Question Number : 30 Question Id : 25498921925 Question Type : MCQ Option Shuffling : Yes Display Question Number :
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Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
_______ is a technique for transforming information on a computer in such a way that it becomes unreadable.
Options :
1.  Decryption
2.  Encryption
3.  Atomization
4.  Customization
  
Question Number : 30 Question Id : 25498921925 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
_______ िकसी कं�ूटर पर सूचना बदलने के िलए एक �कार की तकनीक होती है िजससे वह अपठनीय बना रहता है।
Options :
1.  िवकोडन (िडि��शन)
2.  कूटलेखन (ए����शन)
3.  कणीकरण (एटोमाईज़ेशन)
4.  अनुकूलन (क�माईजेशन)
  
Question Number : 31 Question Id : 2549896291 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िडिजटल ह�ा�र के िलए िन�िल�खत म� कौन-सा कथन सही नही ंहै?
Options :
1.  यह �माणीकरण की एक �ि�या है।
2.  यह िकसी के ह�ा�र की �ैन की �ई इमेज होती है।
3.  इसे जानकारी ए���� करके बनाया जाता है।
4.  इसकी �ितिलिप नही ंबनाई जा सकती है।
  
Question Number : 31 Question Id : 2549896291 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following statements related to digital signatures is INCORRECT?
Options :
1.  It is a mechanism for authentication.
2.  It is the scanned image of one's signature.
3.  It is created by encrypting information.
4.  It cannot be duplicated.
  
Question Number : 32 Question Id : 2549896628 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
इले�� ॉिनक कॉमस� (ई-कॉमस�) �वसाय मॉडल से हमारा ता�य� है:
Options :
1.  वािण� िजसम� �थानीय दुकान म� व�ुओ ंको खरीदना और बेचना शािमल है।
2.  वािण� जो डोर-टू-डोर िब�ी पर िनभ�र करता है।
3.  वािण� जो कं�ूटर पर िनभ�र नही ंहै।
4.  वािण� जो इंटरनेट से जुड़े कं�ूटरो ंपर िकए गए लेनदेन पर आधा�रत है।
  
Question Number : 32 Question Id : 2549896628 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
By Electronic Commerce (E-commerce) business model, we mean:
Options :
1.  commerce that involves buying and selling the items in a local shop.
2.  commerce that depends on door-to-door selling.
3.  commerce that does not depend on computers.
4.  commerce that is based on transactions conducted over computers connected to the internet.
  
Question Number : 33 Question Id : 2549897165 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िन�िल�खत म� से कौन-सा वेब �ाउिजंग सॉ�वेयर माइ�ोसॉ� �ारा िवकिसत िकया गया है?
Options :
1.  गूगल �ोम
2.  इंटरनेट ए��ोरर
3.  ओपेरा
4.  फायरफॉ�
  
Question Number : 33 Question Id : 2549897165 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following web browsing software has been developed by Microsoft?
Options :
1.  Google Chrome
2.  Internet Explorer
3.  Opera
4.  Firefox
  
Question Number : 34 Question Id : 2549897413 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िकस टैब का उपयोग करके MS-Word 2013 डॉ�ुम�ट म� िस�ेचर लाइन को जोड़ा जा सकता है?
Options :
1.  Edit
2.  Format
3.  Insert
4.  Home
  
Question Number : 34 Question Id : 2549897413 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
By using which tab can you add a signature line in an MS-Word 2013 document?
Options :
1.  Edit
2.  Format
3.  Insert
4.  Home
  
Question Number : 35 Question Id : 2549897871 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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PowerPoint ��ुित के िन� म� से िकस �� का उपयोग मु�ण �� म� िकए जा सकने वाले प�रवत�नो ंकी तुलना म� अिधक िविश� �ाइड लेआउट
और ��पण प�रवत�न करने के िलए िकया जाता है?
Options :
1.  �ाइड सॉट�र
2.  �ाइड मा�र
3.  ह�डआउट मा�र
4.  नोट्स मा�र
  
Question Number : 35 Question Id : 2549897871 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following views of a PowerPoint presentation is used to make more specific slide layout and formatting changes than
you can make in Print view?
Options :
1.  Slide Sorter
2.  Slide Master
3.  Handout Master
4.  Notes Master
  
Question Number : 36 Question Id : 2549898122 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS Excel म� बबल चाट� के मामले म� कौन-सा कथन गलत है?
Options :
1.  बबल चाट� सेट की तुलना तब करता है जब दो के बजाय तीन मान मौजूद हो।ं
2.  बबल चाट� िविभ� वग� के मानो ंकी तुलना करता है।
3.  बबल चाट� म� ��ेक िबंदु एकल डेटा िबंदु से मेल खाता है।
4.  बबल चाट� के िलए डेटा तािलका का तीसरा कॉलम बबल का आकार िनधा��रत करता है।
  
Question Number : 36 Question Id : 2549898122 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following statements related to bubble chart in MS Excel is INCORRECT?
Options :
1.  A bubble chart compares sets when three values exist instead of two.
2.  A bubble chart compares values across categories.
3.  Each dot in a bubble chart corresponds with a single data point.
4.  The third column of data table for a bubble chart determines the size of the bubble.
  
Question Number : 37 Question Id : 2549899125 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Outlook िवंडो का िन�िल�खत म� से कौन-सा इंटरफेस घटक, Outlook 2013 म� कैल�डर, टा�, कॉ�े� और मेल फ़ो�र �दिश�त करता है?
Options :
1.  �रिडंग पैन
2.  नेिवगेशन पैन
3.  ��प पैन
4.  टू-डू-बार
  
Question Number : 37 Question Id : 2549899125 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Which of the following interface components of the Outlook window displays the Calendar, Tasks, Contacts and Mail folder in
Outlook 2013?
Options :
1.  Reading Pane
2.  Navigation Pane
3.  Clip Pane
4.  To-Do Bar
  
Question Number : 38 Question Id : 25498910532 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS-Word 2007 म�, पेज सेटअप डायलॉग बॉ� के नीचे एक 'Apply to' िवक� है जहां ______ चुना जाता है। इसके उपयोग करने पर, Word
स��लन िबंदु (insertion point) पर एक पृ� �ेक बनाता है और �ेक के बाद ही नई सेिटं� का उपयोग शु� करता है।
Options :
1.  िदस पॉइंट फॉरवड� (this point forward)
2.  बैकवड� पॉइंट (backward point)
3.  करंट पेज (current page)
4.  हॉल डॉ�ूम�ट (whole document)
  
Question Number : 38 Question Id : 25498910532 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In MS-Word 2007, at the bottom of the Page Setup dialog box is an 'Apply to' option where ______ is selected. By using this, Word
creates a page break at the insertion point and starts using the new settings only after the break.
Options :
1.  this point forward
2.  backward point
3.  current page
4.  whole document
  
Question Number : 39 Question Id : 25498910604 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS-Word 2013 म� िन�िल�खत म� से िकस समूह म� लाइन �ेिसंग िवक� मौजूद है?
Options :
1.  पैरा�ाफ समूह
2.  एिडिटंग समूह
3.  फ़ॉ� समूह
4.  �ाइल समूह
  
Question Number : 39 Question Id : 25498910604 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Within which of the following groups is the line spacing option present in MS-Word 2013?
Options :
1.  Paragraph group
2.  Editing group
3.  Font group
4.  Styles group
  



5/16/22, 3:39 PM https://g01.tcsion.com/CAE/viewHtmlPDFAction.action

https://g01.tcsion.com/CAE/viewHtmlPDFAction.action 18/40

Question Number : 40 Question Id : 25498911440 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
दी गई इमेज म� िवक�, MS-Word 2016 म� �र�ू टैब के ______ समूह के भीतर पाया जा सकता ह�।

Options :
1.  �ूिफंग
2.  कम�ट्स
3.  ट� ै िकंग
4.  च�जेस
  
Question Number : 40 Question Id : 25498911440 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The options in the given image can be found within the ______ group of the Review tab in MS-Word 2016.

Options :
1.  Proofing
2.  Comments
3.  Tracking
4.  Changes
  
Question Number : 41 Question Id : 25498911819 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In MS-Word 2016, in the context of text formatting, the line spacing setting 'single spaced' is ______ line/s high.
Options :
1.  one
2.  two
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3.  three
4.  four
  
Question Number : 41 Question Id : 25498911819 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS-Word 2016 म�, टे� फॉम��िटंग के संदभ� म�, लाइन �ेिसंग सेिटंग 'िसंगल �ेस' ______ लाइन उ�(high) है।
Options :
1.  एक
2.  दो
3.  तीन
4.  चार
  
Question Number : 42 Question Id : 25498911904 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िन�िल�खत म� से िकस कंपनी ने िबंग सच� इंजन लॉ� िकया?
Options :
1.  AOL
2.  गूगल (Google)
3.  माइ�ोसॉ� (Microsoft)
4.  या�! (Yahoo!)
  
Question Number : 42 Question Id : 25498911904 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following companies launched the Bing search engine?
Options :
1.  AOL
2.  Google
3.  Microsoft
4.  Yahoo!
  
Question Number : 43 Question Id : 25498911924 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
"�ंभ" मेनू िविभ� �ंभ �कारो ंको �दिश�त करता है िज�� आप MS-Word म� अपने द�ावेज़ म� जोड़ सकते ह�, और यह लेआउट टैब म� ____
आदेश समूह से संबंिधत है।
Options :
1.  मािज��
2.  पेज सेटअप
3.  फ़ॉ�
4.  �ूिफंग
  
Question Number : 43 Question Id : 25498911924 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The “Columns” menu displays various column types you can add to your document in MS-Word, and it belongs to ______ command
group in Layout tab.
Options :
1.  Margins
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2.  Page Setup
3.  Font
4.  Proofing
  
Question Number : 44 Question Id : 25498911952 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Options :
1.  Decision making
2.  Input
3.  Processing
4.  Output
  
Question Number : 44 Question Id : 25498911952 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Options :
1.  डीसीजन मेिकंग 
2.  इनपुट 
3.  �ोसेिसंग 
4.  आउटपुट 
  
Question Number : 45 Question Id : 25498913319 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS-Word 2016 म�, िन�िल�खत म� से कौन-सा पैरामीटर फ़ॉ� समूह के िवक� 'च�ज केस (Change Case)' म� उप��थत होता है?
Options :
1.  अपरकेस, पैरा�ाफ केस, कैिपटलाइज़ ईच वड�
2.  अपरकेस, टॉगलकेस, पैरा�ाफ केस
3.  स��ट�स केस, लोअरकेस, अपरकेस, कैिपटलाइज़ ईच वड�, टॉगलकेस
4.  अपरकेस, लोअरकेस, पैरा�ाफ केस
  
Question Number : 45 Question Id : 25498913319 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In MS-Word 2016, which of the following parameters are present within the 'Change Case' option of the Font group?
Options :
1.  UPPERCASE, paragraphcase, Capitalize each word
2.  UPPERCASE, tOGGLE cASE, paragraphcase
3.  Sentence case., lowercase, UPPERCASE, Capitalize Each Word, tOGGLE cASE
4.  UPPERCASE, lowercase, paragraphcase
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Question Number : 46 Question Id : 25498919149 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िदया गया आइकन, जो MS-Word 2016 म� मेिलंग टैब के भीतर समूह बनाएं (Create group) म� पाया जा सकता है, ______ का िन�पण करता
है।

Options :
1.  िलफाफे(एनवलप)
2.  लेबल
3.  प�(लेटर)
4.  �ीिटंग काड�
  
Question Number : 46 Question Id : 25498919149 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The given icon, which can be found in the Create group within the Mailings tab in MS-Word 2016, represents ______.

Options :
1.  envelopes
2.  labels
3.  letter
4.  greeting card
  
Question Number : 47 Question Id : 25498919223 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
दी गई िवंडो तब �दिश�त होती है जब लेटर मेल मिज�ग के तीसरे चरण म� ______ रेिडयो बटन एनेबल होता है।

Options :
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1.  मौजूदा सूची का उपयोग कर�  (use an existing list)
2.  Outlook संपक� को चुन� (select the Outlook contacts)
3.  एक नई सूची टाइप कर�  (type a new list)
4.  सूची इ�ोट� कर�  (import the list)
  
Question Number : 47 Question Id : 25498919223 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The given window is displayed when the ______ radio button is enabled in the third step of mail merging a letter.

Options :
1.  use an existing list
2.  select the Outlook contacts
3.  type a new list
4.  import the list
  
Question Number : 48 Question Id : 25498919250 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS-Word 2016 म�, 'इस �ा�कता� को बाहर कर�  (exclude this recipient)' िवक�, मेल मज� �ि�या के ______ चरण म� उपल� है।
Options :
1.  पहले
2.  तीसरे
3.  दूसरे
4.  पांचव�
  
Question Number : 48 Question Id : 25498919250 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In MS-Word 2016, the 'exclude this recipient' option is available in the ______ step of the Mail Merge process.
Options :
1.  first
2.  third
3.  second
4.  fifth
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Question Number : 49 Question Id : 25498924870 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS-Excel म� िपवोट टेबल ______ के िलए उपयोगी ह�।
Options :
1.  इमेज मेनी�ूलेशन काय� का िनमा�ण करने
2.  डेटा की छोटी मा�ा को समझने
3.  अभा�रत �ॉस टै�ूलेशन बनाने
4.  जानकारी को कै�चर करने और साम�ी को फ़ाइल के �प म� सेव करने के िलए फॉम� बनाने
  
Question Number : 49 Question Id : 25498924870 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Pivot tables in MS-Excel are useful for:
Options :
1.  creating image manipulation tasks
2.  understanding small quantities of data
3.  creating unweighted cross tabulations
4.  creating forms to capture information and save the contents as a file
  
Question Number : 50 Question Id : 25498925512 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
MS-Word म� ऐसी कौन-सी सं�ा, आकृित, �तीक या संकेतक है जो सामा� लेखन रेखा �कार से छोटी/छोटा होती/होता है और इससे थोड़ा नीचे
सेट होती है?
Options :
1.  सब���
2.  सुपर���
3.  अंडर�ी�
4.  ओवर�ी�
  
Question Number : 50 Question Id : 25498925512 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In MS-Word, what is a number, figure, symbol or indicator that is smaller than the normal line of type and is set slightly below it?
Options :
1.  Subscript
2.  Superscript
3.  Underscript
4.  Overscript
  
Question Number : 51 Question Id : 25498932139 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
पहचान� िक िदया गया कथन स� ह� या अस�। 

(i) वीिडयो कॉ��� �िसंग का उपयोग करके, छा� िविभ� �थानो ंसे �ा�ान और �िश�ण म� भाग ले सकते ह�।
(ii) वीिडयो कॉ��� �िसंग अनुभव को आमने-सामने की क�ा के समान बनाती है।
Options :
1.  (i) स� (ii) स�
2.  (i) स� (ii) अस�
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3.  (i) अस� (ii) स�
4.  (i) अस� (ii) अस�
  
Question Number : 51 Question Id : 25498932139 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify whether the given statements are true or false. 

(i) Using videoconferencing, students can attend lectures and training from different locations.
(ii) Videoconferencing makes the experience similar to a face-to-face class.
Options :
1.  (i) True (ii) True
2.  (i) True (ii) False
3.  (i) False (ii) True
4.  (i) False (ii) False
  
Question Number : 52 Question Id : 25498934493 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
वीिडयो �� ीिमंग के दौरान, िजतनी तेज़ी से �ेम �दिश�त होते ह�, ______।
Options :
1.  वीिडयो उतना ही सुचा� िदखाई देता है
2.  वीिडयो उतना ही अिनयिमत िदखाई देता है
3.  वीिडयो धंुधला हो जाता है
4.  वीिडयो �ादा अ�� िदखाई देता है
  
Question Number : 52 Question Id : 25498934493 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
During video streaming, the faster the frames are displayed, ______.
Options :
1.  the smoother the video appears
2.  the fuzzier the video appears
3.  the blurrier the video gets
4.  the more vague the video appears
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Question Id : 25498920893 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (53 to 57)
Read the given passage and answer the questions.

Memories of my boyhood

One person who greatly influenced my boyhood was my first cousin, Samsuddin. He was the one and only distributor for newspapers
in Rameswaram. The newspapers would arrive at Rameswaram station by the morning train from Pamban. Samsuddin’s newspaper
agency was a one man organisation providing to the 1000 - strong literate population of Rameswaram town. These newspapers were
mainly bought to keep track of current developments in the National Independence Movement, for astrological reference or to check
the gold or silver rates prevailing in Madras. A few readers with a more cosmopolitan outlook would discuss Hitler, Mahatma Gandhi
and Jinnah; almost all would finally flow into the mighty political current of Periyar EV Ramaswamy’s movement against high caste
Hindus. Dinamani was the most popular newspaper. Since I could not read then, I had to satisfy myself with glancing at the pictures
in the newspaper before Samsuddin delivered them to his customers.

The Second World War broke out in 1939, when I was eight years old. For reasons I have never been able to understand, there was a
sudden demand for tamarind seeds in the market. I used to collect the seeds and sell them to a provision shop on Mosque Street. A
day’s collection would fetch me the princely sum of one anna. Jallaluddin, who later married my sister, would tell me stories about
the war which I would latter attempt to trace in the headlines in Dinamani. Our area, being isolated, was completely unaffected by the
war. But soon India was forced to join the Allied Forces and something like a state of emergency was declared. The first casualty
came in the form of the suspension of the train halt at Rameswaram station. The newspapers, now had to be bundled and thrown out
from the moving train on the Rameswaram Road between Rameswaram and Dhanuskodi. That forced Samsuddin to look for a
helping hand to catch the bundles and, as if naturally, I filled the slot. Samsuddin helped me earn my first wages. Half a century later,
I can feel the surge of pride in earning my own money for the first time.
Sub questions
 
Question Number : 53 Question Id : 25498920894 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
How was Samsuddin related to the author?
Options :
1.  Samsuddin was a classmate.
2.  Samsuddin brought the newspaper to the author's house.
3.  Samsuddin used to tell stories to the author.
4.  Samsuddin was a very close relation of the author.
 
Question Number : 54 Question Id : 25498920895 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Why does the author appreciate Samsuddin so much?
Options :
1.  Samsuddin single-handedly supplied newspapers to 1000 customers.
2.  Samsuddin made the author aware of national and international happenings.
3.  Samsuddin was the first person to take the author to Dhanuskodi.
4.  Samsuddin kept the author updated on gold and silver prices.
 
Question Number : 55 Question Id : 25498920896 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which period is the author referring to in the passage?

1. pre-independence India
2. before the outbreak of the World War II
3. when Periyar Ramaswamy was fighting against the privileges of high-class Brahmins
4. immediately after the independence of India

Which of the following combinations is correct?
Options :
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1.  1, 2 and 3 are correct.
2.  2, 3 and 4 are correct.
3.  1, 2 and 4 are correct.
4.  1 and 4 are correct.
 
Question Number : 56 Question Id : 25498920897 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Why does the author say that one anna was a princely sum?
Options :
1.  The money came from the prince of Rameswaram.
2.  The buying power of one anna was quite a lot.
3.  The common people were not very greedy.
4.  The author did not have to work too much to earn the money.
 
Question Number : 57 Question Id : 25498920898 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
How did Samsuddin help the author earn his first wages?
Options :
1.  Samsuddin was looking for an assistant for his growing business and the author offered his services.
2.  The train from Pamban did not stop at Rameswaram station to supply newspapers to Samsuddin.
3.  The author got paid by Samsuddin for collecting the newspaper bundles thrown midway from the moving train.
4.  The extra newspapers not required by Samsuddin was sold to a nearby provision store by the author.
  
Question Id : 25498920893 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (53 to 57)
िदए गए ग�ांश को पढ़�  और उसके आधार पर ��ो ंके उ�र द�।

मेरे बचपन की याद�

एक ��� िजसने मेरे बचपन को ब�त �भािवत िकया वह मेरा चचेरा भाई, समसु�ीन था। वह रामे�रम म� समाचार प�ो ंका एकमा� िवतरक था।
समाचार प� रामे�रम �ेशन पर पंबन से सुबह की ट� ेन से प�ंचते थे। समसु�ीन की अख़बार एज�सी रामे�रम शहर की 1000 सा�र आबादी को
�दान करने वाला एकल-��� संगठन थी। इन समाचार प�ो ंको मु� �प से रा�� ीय �तं�ता आंदोलन म� वत�मान िवकास के ट� ैक के िलए,
�ोितषीय संदभ� के िलए या म�ास म� �चिलत सोने या चांदी की दरो ंकी जांच के िलए खरीदा जाता था। अिधक िव��ापी �ि�कोण वाले कुछ
पाठक िहटलर, महा�ा गांधी और िज�ा पर चचा� करते थे; लगभग सभी अंततः  उ� जाित के िहंदुओ ंके �खलाफ पे�रयार ईवी रामा�ामी के
आंदोलन के श��शाली राजनीितक �वाह म� आ बह जाते थे। दीनामनी सबसे लोकि�य समाचार प� था। चंूिक म� तब नही ंपढ़ पाया था, इसिलए
मुझे समसु�ीन �ारा अपने �ाहको ंको सौपंने से पहले समाचार प� के िच�ो ंपर नजर डाल कर ही खुद को संतु� करना पड़ता था।

ि�तीय िव� यु� 1939 म� शु� हो गया, जब म� आठ साल का था। कारण म� कभी समझ नही ंपाया, बाजार म� इमली के बीज की अचानक मांग बढ़
गई थी। म� बीज इक�ा करता था और उ�� म��द �� ीट पर एक �ोिवजन �ोर को बेचता था। एक िदन का सं�ह मुझे एक आने की भारी-भरकम
रािश कमाकर देता था। बाद म�, मेरी बहन से िववाह करने वाले, ज�ालु�ीन, मुझे यु� के बारे म� कहािनयां सुनाया करता था जो बाद म� म� दीनामनी
की सु�ख�यो ंम� देखने का �यास करता था। हमारा �े� अलग, यु� से पूरी तरह से अ�भािवत था। लेिकन ज� ही भारत को सहयोगी बलो ंम� शािमल
होने के िलए मजबूर होना पड़ा और आपात ��थित की तरह कुछ घोिषत कर िदया गया। पहली दुघ�टना म� रामे�रम �ेशन का हालत िनलंिबत कर
िदया गया। समाचार प�ो ंको अब रामे�रम और धनु�ोडी के बीच रामे�रम रोड पर चलती ट� ेन से बाहर फ� का जाता था। इस कारण समसु�ीन को
बंडलो ंको पकड़ने म� सहायता करने के िलए िकसी की आव�कता पड़ी और, जैसे �ाभािवक �प से, म��ने वह काम पकड़ िलया। समसु�ीन ने
मुझे मेरी पहली मजदूरी कमाने म� मदद की। आधी सदी बाद, म� पहली बार अपना पैसा कमाने म� गव� की वृ�� महसूस कर सकता �ं।
Sub questions
 
Question Number : 53 Question Id : 25498920894 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
समसु�ीन लेखक से कैसे संबंिधत था?
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Options :
1.  समसु�ीन सहपाठी था।
2.  समसु�ीन लेखक के घर म� समाचार प� लाता था।
3.  समसु�ीन लेखक को कहािनयां सुनाता था।
4.  समसु�ीन का लेखक के साथ ब�त करीबी �र�ा था।
 
Question Number : 54 Question Id : 25498920895 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
लेखक समसु�ीन की इतनी सराहना �ो ंकरते ह�?
Options :
1.  समसु�ीन अकेले ही 1000 �ाहको ंको समाचार प�ो ंकी आपूित� िकया करता था।
2.  समसु�ीन लेखक को रा�� ीय और अंतररा�� ीय घटनाओ ंके बारे म� बताता था।
3.  समसु�ीन लेखक को धनु�ोडी ले जाने वाला पहला ��� था।
4.  समसु�ीन लेखक को सोने और चांदी की कीमतो ंपर अ�तन रखता था।
 
Question Number : 55 Question Id : 25498920896 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
लेखक इस अंश म� िकस अविध का िज� कर रहे ह�?

1. �तं�ता के पहले का भारत
2. ि�तीय िव� यु� के शु� होने से पहले
3. जब पे�रयार रामा�ामी उ� �ेणी के �ा�णो ंके िवशेषािधकारो ंके �खलाफ लड़ रहे थे
4. भारत की आजादी के तुरंत बाद

िन�िल�खत म� से कौन सा संयोजन सही है?
Options :
1.  1, 2 और 3 सही ह�।
2.  2, 3 और 4 सही ह�।
3.  1, 2 और 4 सही ह�।
4.  1 और 4 सही ह�।
 
Question Number : 56 Question Id : 25498920897 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
लेखक �ो ंकहते ह� िक एक आना ब�त बड़ी रािश थी?
Options :
1.  पैसा रामे�रम के राजकुमार से आया था।
2.  एक आना की खरीद श�� काफी थी।
3.  आम लोग ब�त लालची नही ंथे।
4.  पैसे कमाने के िलए लेखक को ब�त �ादा काम नही ंकरना पड़ा।
 
Question Number : 57 Question Id : 25498920898 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
समसु�ीन ने लेखक को अपनी पहली मजदूरी कमाने म� कैसे मदद की?
Options :
1.  समसु�ीन अपने बढ़ते �ापार के िलए एक सहायक की तलाश म� था और लेखक ने अपनी सेवाओ ंकी पेशकश की।
2.  पंबन की ट� ेन रामे�रम �ेशन पर समसु�ीन को समाचार प�ो ंकी आपूित� के िलए नही ं�क रही थी।
3.  लेखक को समसु�ीन ने चलती ट� ेन से फ� कने वाले समाचार प� के बंडलो ंको इक�ा करने के िलए भुगतान िकया।
4.  समसु�ीन का अनाव�क अित�र� समाचार प� लेखक �ारा पास के �ोिवजन �ोर म� बेचा गया था।
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QUANTITATIVE APTITUDE
Section Id : 2549895920
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895961
Question Shuffling Allowed : Yes
  
Question Number : 58 Question Id : 25498914278 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What should come in place of the question mark (?) in the following question?

475 + 64% of 950 = 900 + ?
Options :
1.  183
2.  233
3.  1983
4.  1863
  
Question Number : 58 Question Id : 25498914278 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िन�िल�खत �� म� �� िच� (?) के �थान पर कौन सी सं�ा आएगी?

475 + 64% of 950 = 900 + ?
Options :
1.  183
2.  233
3.  1983
4.  1863
  
Question Number : 59 Question Id : 25498914330 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The product of three consecutive even numbers is 4032. The product of the first and the third number is 252. What is five times the
second number?
Options :
1.  80
2.  100
3.  60
4.  70
  
Question Number : 59 Question Id : 25498914330 Question Type : MCQ Option Shuffling : Yes Display Question Number :
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Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
तीन �मागत सम सं�ओ ंका गुणनफल 4032 है। पहली और तीसरी सं�ा का गुणनफल 252 है। दूसरी सं�ा का पाँच गुना �ा है?
Options :
1.  80
2.  100
3.  60
4.  70
  
Question Number : 60 Question Id : 25498914339 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Options :

1.  

2.  

3.  

4.  

  
Question Number : 60 Question Id : 25498914339 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Options :

1.  

2.  

3.  

4.  

  
Question Number : 61 Question Id : 25498914340 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What approximate value will come in place of question mark (?) in the following question? 
(You are not expected to calculate the exact value)

68% of 1288 + 26% of 734 − 215 = ?
Options :
1.  620
2.  930
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3.  540
4.  850
  
Question Number : 61 Question Id : 25498914340 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िन�िल�खत �� म� �� िच� (?) के �थान पर लगभग �ा मान आएगा? 
(आपको सटीक मान की गणना करने की आव�कता नही ंहै)

68% of 1288 + 26% of 734 − 215 = ?
Options :
1.  620
2.  930
3.  540
4.  850
  
Question Number : 62 Question Id : 25498914365 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Find the greatest three digit number which is multiple of 7.
Options :
1.  994
2.  996
3.  993
4.  995
  
Question Number : 62 Question Id : 25498914365 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
सबसे बड़ी तीन अंको ंवाली सं�ा �ात कर�  जो 7 के गुणा है।
Options :
1.  994
2.  996
3.  993
4.  995
  
Question Number : 63 Question Id : 25498929167 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A husband and a wife have monthly incomes in the ratio 5 : 6 and monthly expenditures in the ratio 3 : 4. If they save ₹1,800 and
₹1,600, respectively, find the monthly income of wife:
Options :
1.  ₹3,400
2.  ₹2,700
3.  ₹1,720
4.  ₹7,200
  
Question Number : 63 Question Id : 25498929167 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
एक पित और प�ी की मािसक आय 5 : 6 के अनुपात म� है और मािसक �य 3 : 4 के अनुपात म� है। यिद वे �मशः  ₹1,800 और ₹1,600 बचाते ह�,
तो प�ी की मािसक आय पता  कीिजए:
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Options :
1.  ₹3,400
2.  ₹2,700
3.  ₹1,720
4.  ₹7,200
  
  

GENERAL MENTAL ABILITY AND REASONING
Section Id : 2549895921
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895962
Question Shuffling Allowed : Yes
  
Question Number : 64 Question Id : 25498910044 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following words will come second if all of them are arranged alphabetically as in a dictionary?
Options :
1.  Parasite
2.  Party
3.  Petal
4.  Paste
  
Question Number : 64 Question Id : 25498910044 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
चार श� िदये गये ह�। यिद सभी श�ो ंको एक श�कोश के अनुसार वणा�नु�म म� �व��थत िकया जाता है, तो दूसरे �थान पर कौन सा श�
आयेगा?
Options :
1.  Parasite
2.  Party
3.  Petal
4.  Paste
  
Question Number : 65 Question Id : 25498910134 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third term in the same way as the second term is related to the first term.

Foresight : Anticipation :: Insomnia : ?
Options :
1.  Treatment
2.  Disease
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3.  Sleeplessness
4.  Unrest
  
Question Number : 65 Question Id : 25498910134 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
उस िवक� का चयन कर�  जो तीसरे पद से उसी �कार से संबंिधत है िजस �कार से दूसरा पद पहले पद से संबंिधत है। 

दूरदिश�ता(फोरसाइट) : पूवा�भास(एंटीिसपेशन)  : : अिन�ा(इंसोि�या) : ?
Options :
1.  उपचार(ट� ीटम�ट)
2.  बीमारी(िडिसस)
3.  िन�ाअभाव(�ीपलेसनेस)
4.  अिव�ाम(अनरे�)
  
Question Number : 66 Question Id : 25498912838 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Options :
1.  Nil
2.  One
3.  Two
4.  Three
  
Question Number : 66 Question Id : 25498912838 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Options :
1.  शू�
2.  एक
3.  दो
4.  तीन
  
Question Number : 67 Question Id : 25498919665 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third number in the same way as second number is related to the first.

24 : 126 : : 48 : ?
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Options :
1.  192
2.  433
3.  240
4.  344
  
Question Number : 67 Question Id : 25498919665 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
उस िवक� का चयन कर�  जो तीसरे नंबर से उसी �कार से संबंिधत है िजस �कार से दूसरा नंबर पहले नंबर से संबंिधत है।

24 : 126 : : 48 : ?
Options :
1.  192
2.  433
3.  240
4.  344
  
Question Number : 68 Question Id : 25498919883 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In each of the following, four words have been given, out of which three are alike in some manner, while the fourth one is different.
Choose out the odd one.
Options :
1.  Pound
2.  Yen
3.  Ounce
4.  Franc
  
Question Number : 68 Question Id : 25498919883 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
नीचे िवक�ो ंम� चार श� िदए गए ह� िजनम� से तीन िकसी �कार से एक जैसे ह�, जबिक एक इनसे िभ� है। उस िभ� श� की पहचान कर�।
Options :
1.  पौडं (Pound)
2.  येन (Yen)
3.  औसं (Ounce)
4.  �� क (Franc)
  
Question Number : 69 Question Id : 25498920308 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Four words have been given, out of which three are alike in some manner and the fourth one is different.Choose out the odd one.
Options :
1.  Square
2.  Circle
3.  Triangle
4.  Cone
  
Question Number : 69 Question Id : 25498920308 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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चार श� िदए गए ह�, िजनम� से तीन श� िकसी �प म� एक समान ह� जबिक चौथा श� िविभ� है। असमान श� का चयन कर�।
Options :
1.  वग� (Square)
2.  वृ� (Circle)
3.  ि�भुज (Triangle)
4.  शंकु(Cone)
  
  

GENERAL AWARENESS
Section Id : 2549895922
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895963
Question Shuffling Allowed : Yes
  
Question Number : 70 Question Id : 2549895247 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which among the following is the largest trading Government company of India?
Options :
1.  Food Corporation of India
2.  Mineral and Metal Trading Corporation
3.  Khadi and Village Industries Corporation
4.  Trade Fair Authority of India
  
Question Number : 70 Question Id : 2549895247 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
िन�िल�खत म� से कौन-सी भारत की सबसे बड़ी �ापा�रक सरकारी कंपनी है?
Options :
1.  भारतीय खा� िनगम
2.  खिनज और धातु �ापार िनगम
3.  खादी और �ामो�ोग िनगम
4.  भारतीय �ापार मेला �ािधकरण
  
Question Number : 71 Question Id : 2549895295 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Who is the author of the 'Nyaya Sutra'?
Options :
1.  Akṣapāda Gautama
2.  Maharishi Kanad
3.  Maharishi Kapila
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4.  Badrayan Rishi
  
Question Number : 71 Question Id : 2549895295 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
‘�ाय सू�’ के लेखक कौन है?
Options :
1.  अ�पाद गौतम
2.  महिष� कनाद
3.  महिष� किपला
4.  बादरायण ऋिष
  
Question Number : 72 Question Id : 2549895402 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Who is known as father of medicine?
Options :
1.  Aristotle
2.  Theophrastus
3.  Hippocrates
4.  Edward Jenner
  
Question Number : 72 Question Id : 2549895402 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
औषिध के िपता (फादर ऑफ़ मेिडिसन) के �प म� िकसे जाना जाता है?
Options :
1.  अर�ू
2.  िथयो�े�स
3.  िह�ो�ेट्स
4.  एडवड� जेनर
  
Question Number : 73 Question Id : 2549895942 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Who wanted Indian National Congress to be a ‘Safety Valve’?
Options :
1.  A. O. Hume
2.  Lord Lytton
3.  WC Banerjee
4.  Surendranath Bannerjee
  
Question Number : 73 Question Id : 2549895942 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
भारतीय रा�� ीय कां�ेस को ‘सुर�ा वा�' कौन बनाना चाहता था?
Options :
1.  ए. ओ. ह्यूम
2.  लॉड� िलटन
3.  ड�ू सी बनज�
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4.  सुर��नाथ बनज�
  
Question Number : 74 Question Id : 2549899639 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The main source of National Income in India is:
Options :
1.  service sector
2.  agriculture sector
3.  industrial sector
4.  trade sector
  
Question Number : 74 Question Id : 2549899639 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
भारत म� रा�� ीय आय का मु� �ोत ______ है।
Options :
1.  सेवा �े�
2.  कृिष �े�
3.  औ�ोिगक �े�
4.  �ापार �े�
  
Question Number : 75 Question Id : 2549899651 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In November 2014,  _______ broke the record for the highest individual score in a One Day International cricket match.
Options :
1.  Rohit Sharma
2.  Martin Guptill
3.  Chris Gayle
4.  Virender Sehwag
  
Question Number : 75 Question Id : 2549899651 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
नवंबर 2014 म�, _______ ने एक िदवसीय अंतरा��� ीय ि�केट मैच म� सव�� ���गत �ोर का �रकॉड� तोड़ा।
Options :
1.  रोिहत शमा�
2.  मािट�न गि�ल
3.  ि�स गेल
4.  वीर�� सहवाग
  
  

English Mock
Group Number : 2
Group Id : 2549893703
Group Maximum Duration : 5
Group Minimum Duration : 5
Show Attended Group? : No
Edit Attended Group? : No
Break time : 1
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Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
  
  

English Mock
Section Id : 2549895923
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895964
Question Shuffling Allowed : No
  
Question Number : 76 Question Id : 25498941039 Question Type : TYPING TEST Display Question Number : Yes Calculator
: None
Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as
teamwork, socializing, decision making, independent and responsible living and more. It aids the overall development of a
child and children have fun during this process as they get to explore new arenas.
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English Actual
Group Number : 3
Group Id : 2549893704
Group Maximum Duration : 15
Group Minimum Duration : 15
Show Attended Group? : No
Edit Attended Group? : No
Break time : 3
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
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Section Id : 2549895924
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895965
Question Shuffling Allowed : No
  
Question Number : 77 Question Id : 25498937901 Question Type : TYPING TEST Display Question Number : Yes Calculator
: None
Mountains have always been a challenge to the spirit of man and man has always accepted that challenge. The loftier a
mountain the greater has been the desire of man to climb and conquer its highest peak and enjoy the thrilling victory. Nearly
all the mountains of the world have now been conquered by the persistence and perseverance of man. Several expeditions
were organised to negotiate the many high mountain peaks in the world and most of them have been successful. A person who
decides to do mountain climbing has already accomplished and overcome his fear. It is an activity that teaches a lot about
facing challenges and overcoming our fears also. High altitude climbing is still a very dangerous task in spite of the
availability of oxygen masks and other protective equipment which modern climbers take with them. These of course are
indispensable accessories of climbing but more important than these is the stamina of the climber which ultimately
determines the success of his attempt. Throughout their journey death is his constant companion which he can keep at a
distance only with their superb and quick presence of mind. They have to tread every inch of the ground with utmost care for
a false step may not only strike them a fatal blow but also bring disaster to the whole expedition. That is why all expeditions
invariably take with them local guides who are experienced climbers and who have a thorough knowledge of the nature of the
terrain. Moreover a huge amount of capital is needed for financing these expeditions and this is generally provided by
governments or rich private organisations. The primary object of a mountaineering expedition is to get to the top of a high
mountain which in the past has withstood all attempts to conquer it. But it should not be presumed that the expedition is a
complete failure if it does not reach its destination. Sometimes operations are temporarily suspended because of bad weather
or the sudden death of a very important member of the party. Every big expedition takes people who are interested in biology
and geology and various other branches of science. These scientists carry with them equipment for recording their
observations concerning the weather and different forms of life in higher altitudes. Other scientists and expeditionists utilise
the fruits of their observations. Thus every unsuccessful expedition contributes to the success of later expeditions. The British
Expedition led by Colonel Hunt would have found their way to Everest much more difficult had not earlier expeditions armed
them with useful knowledge about the death dealing weather which they had to encounter in the vicinity of the summit. To
ordinary people mountaineering need not be a fearful and an inaccessible activity in the land of snowstorms where the brave
adventurer is always face to face with death. They can scale less ambitious heights and rest their weary limbs under a quiet
shelter while feasting their eyes in the distant landscape. In the company of friends they can enjoy an outing near a waterfall
or cross into the next valley with haversacks full of provisions dangling from their shoulders. All those who can afford to go to
hill station should seek this innocent pleasure for it can be had without any risk to life or limb.
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Show Attended Group? : No
Edit Attended Group? : No
Break time : 5
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
  
  

Hindi Mock
Section Id : 2549895925
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895966
Question Shuffling Allowed : No
  
Question Number : 78 Question Id : 25498944392 Question Type : TYPING TEST Display Question Number : Yes Calculator
: None
एक बार की बात है, अकबर और बीरबल िशकार पर जा रहे थे। अभी कुछ समय की उ�� एक िहरण िदखा। ज�बाजी म� तीर िनकालते
�ए अकबर अपने हाथ पर घाव लगा बैठा। अब हालात कुछ ऐसे थे की अकबर ब�त दद� म� था और गु�े म� भी।
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Group Id : 2549893706
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Hindi Typing Test
Section Id : 2549895926
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895967
Question Shuffling Allowed : No
  
Question Number : 79 Question Id : 25498944393 Question Type : TYPING TEST Display Question Number : Yes Calculator
: None
सामािजक िवकास के साथ साथ हमने प�रवहन के भी अनेक साधन िवकिसत िकए है िजनम� से सडक यातायात सबसे �मुख साधन है।
इस ज�री साधन को सुचा� और सुरि�त �प से चलाने के िलए ब�त सारे िनयम बनाए गए ह�। इन िनयमो ंका पालन करना सभी
नाग�रको ंके िलये ज�री है इसिलये िक ये िनयम सभी नाग�रको ंकी भलाई के मकशद से बनाए गए ह�। यातायात के िनयमो ंका पालन
करने से या�ा सुखद और सुरि�त हो जाती है। यिद हम इनका पालन नही करते ह� तो िकसी हादसे का िशकार हम खुद भी हो सकते ह�
और हमारे कारण कोई दूसरा भी हादसे का िशकार हो सकता है। आज के समय म� सडक हादसो ंका �ाफ लगातार बढता जा रहा है।
�ितिदन समाचार प�ो ंके पेज ऐसी वारदातो ंकी सूचनाओ ंसे भरे रहते ह�। जो िदल को देहला देती ह�। ऐसे म� सुरि�त यातायात के िवषय म�
जानना एवं उसके िनयमो ंका पालन करना ज�री हो जाता है। भारत म� सुरि�त यातायात के �मुख िनयम नीचे िदये गये ह�। बायी ंओर
चल�। देश म� यातायात का �मुख िनयम है। बायी ंओर चलना। बायी ंओर चलने से इंसान सुरि�त अपनी जगह तक प�ंच जाता है। �ीलंका
तथा बािक और अनेक देशो ंम� भारत की तरह बायी ंओर चलने का िनयम है। जबिक कनाडा और अमे�रका और �स आिद देशो ंम� दायी ं
ओर चलने का िनयम है। हैलमेट का �योग कर�। दो पिहया वाहनो ंजैसे मोटर साइिकल आिद को चलाते समय तथा उस पर पीछे बैठते
समय हैलमेट का �योग ज�र करना चािहए। हैलमेट के ज�रये हादसे के समय िसर की सुर�ा होती है और यह िसर को गंभीर चोट से
बचाता है। ठहराई �ई गितसीमा का पालन। सडक पर सुरि�त यातायात के िलए वाहनो ंकी अिधकतम गित सीमा को िनयत िकया गया
है। अिधकतर हादसे ती�गित से वाहन चलाने के कारण ही होते ह�। इसिलए सभी को िनयत गित सीमा का पालन करना चािहए। दुसरे
वाहन से आगे िनकलना ओवरटेिकंग। आगे चलने वाले वाहन से संकेत िमलने पर ही हम� उस वाहन के दायी ंओर से आगे िनकलना
मतलब ओवरटेक करना चािहए। भूलकर या शी�ता म� गलत िदशा से ओवरटेक करना जानलेवा हो सकता है। यातायात के और भी
ज�री िनयम ह� िजनका पालन करना ज�री है। िकसी भी �कार के नशे की हालत म� वाहन न चलाएं। वाहन सदैव अपनी लाइन म� ही
चलाएं। वाहन मोडते समय ज�री संकेत द�। �कते समय ज�री संकेत ज�र द�। वाहन म� िजतने इंसान िबठाना तय है। उतने ही बैठाएं
तथा अिधक इंसानो ंको न बैठाएं। चौराहो ंआिद के समीप पैदल याि�यो ंका िवशेष खयाल रखते �ए अपने वाहन की गित धीमी रख�।
चका चौधं करने वाली हैड लाइटो ंका �योग न कर�। हैडलाइट की आधी लाइट काले रंग से रंगी होनी चािहए। रात म� िडपर का �योग
करना चािहए। नंबर पलेट साफ एवं सही मानको ंके अनु�प ही िलखवाएं। सडक पर पैदल चलते �ए या वाहन चलाते �ए मोबाइल पर
बात न कर�  और ईयर फोन लगाकर गाने आिद न सुन�। यातायात के संकेतो ंका पालन कर�। वाहन के आगे एवं पीछे उिचत लाइट ज�र
लगे होनी चािहए। और हम� अिधक �दूषण फैलाने वाले वाहनो ंका �योग नही ंकरना चािहए। कम आयु के िलए िगयर वाली गाडी
�ितबंिधत है। अत कम आयु के लोग उनका �योग न कर�। वाहन की नंबर पलेट पर नंबर के अलावा और कुछ नही ंिलख होना चािहए।
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